Druckverlust pro Sonde doppel-U in kPa

Druckverlust VARIO @ 50 PN20 doppel-U (2 Kreise parallel)
mit Wasser @ 15°C
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——30001/h 13.212 14.047 14.934 15.877 16.845 17.813 18.781 19.749 20.717

3600 I/h 18.192 19.342 20.563 21.860 23.192 24.523 25.855 27.187 28.519

——122001/h 23.842 25.349 26.948 28.647 30.391 32.136 33.880 35.624 37.368

——128001/h 30.138 32.041 34.062 36.209 38.412 40.616 42.819 45.022 47.225

5400 I/h 37.058 39.398 41.882 44.521 47.228 49.936 52.644 55.351 58.059

——60001/h 44.585 47.400 50.387 53.561 56.817 60.073 63.328 66.584 69.840

——6600 I/h 52.704 56.030 59.561 63311 67.158 71.005 74.851 78.698 82.545
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